B. —R&HRERE

1) RFHESE (2019441 1 H ~20204:3 31 )
(HAL : F9)
B FEEO REZEQ | =8 (@D ]
A D
1| SBIA 700, 000 697, 000 -3,000 E&H, #HAE
FEINA 780, 000 668, 661 -111, 339
PRV 140, 000 57, 200 -82,800 PPLECE, GRAGKATE
2 ARSI 4 400, 000 370, 661 ~29, 339 |} MIHE, BAA T
s 100, 000 104, 000 4,000 |TFHE DEL) L B0
[l R 7 /) 30, 000 36, 000 6, 000 |icab < H< world
R BE & o {8 30, 000 36, 800 6,800 @R, LiEWH#ES
H iR 80, 000 64, 000 -16,000 |#iEe
3| FEA 0 15, 200 15,200 | %t
4| FEFEEWNA 5, 300, 000 5, 300, 000 0 |SAEBFTiNS D&
5 | HEA 0 19 19 |Fiesf, = v—1fk
2ZBRAEF 6, 780, 000 6, 680, 880 -99, 120
X HOE
BHEXM 2, 170, 000 1,909, 361 -260, 639
Ak 500, 000 404, 551 ~95, 449 BT L SAACAYAST
H A8 S 850, 000 654, 474 ~195, 526 | [ FILACE, RS, Sl
R 90, 000 106, 850 16,850 T L (LI B0
[ BRER AR 1 1) 20, 000 36, 300 16, 300 |icab>< b < world
: BRI N—T 30, 000 31, 176 1,176 |/,7 7 Vorld Fun, Af
R & 0> By 100, 000 104, 796 4,796 [t
JiER 240, 000 305, 942 65,942 |E%%, HPREE, BIH4%
308 AL e i 150, 000 152, 291 2, 291 | 3084 Fa x E(ii 2%
RN 190, 000 112, 981 -77,019 |a. #iEs, EHERS

10




11

B FEEO REZEQ | =8 (D) &%
EHE 5,315, 700 5, 289, 179 -26, 521
Y 3, 996, 000 3,973, 000 ~23,000 | AT 2T
FI il 2 160, 000 145,976 -14, 024 |= E—fk, #ES%
F 4 0 2, 650 2,650 |54, witée
Bk 144, 000 144, 000 0 |BEHTSHE R
ilE 130, 000 145, 033 15,033 | 7R
TR A 2 70, 000 100, 436 30,436 |1 i, L7 Y=
THEEAR A 570, 000 530, 286 -39,714 |=7 2, Ry
KB S EE 90, 000 82, 390 -7,610 |EX. H A, KBS
SRR} 72, 000 63, 080 -8,920 |17 77 TIRER SR
SCHNFHECE 16, 000 23, 870 7,870 |&%72 & OIATHE
kB A 5, 000 9, 220 4,220 it
AT AR 12, 000 11, 664 -336 |2 —kA LTI Ak
S 50, 000 56, 974 6,074 | LI AT
FABLARE 700 600 -100 |FIEFE
2GR EF 7, 485, 700 7,198, 540 -287, 160
B2 &&= ~705, 700 -517, 660 188, 040
FIHIRREIR S 5 1, 990, 904 1, 990, 904 0
KHRREIR S B 1, 285, 204 1,473, 244 188, 040
B & E (BFEMAME2ESY) 2
IEBRRT PE ST 1,473, 246
H1) HEBERAICCE L




